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Passage:

Tobek:— SHeNTIRE TRt Ufean Uy fapeararaaea: Ifadaany I o fad |

P& HEIS ARGy I FEI Huafd ¥ aui sigonef ga: Sifi S ST W | UFe<R O S Y StRid W | Half 9 TeTdl Yae IHar "SR AMe:
HIGAMST S | W Ua forqam @ snenfeids R o fugaar Ta 1 Td 3 S SR $4 a1 Hemfey:?” 3 | oo G, | $aF Te: TeldrH Suas Uy
Jya - “YaM S¥RIalayd S Sreafa) famg o yar gy $aRex $aiil war?’ i

HEIHT S - "$fg g UldleTH $4R% < B | var 31 Al vard Haf afd $uRai srad Wit dugel ¥ W BRI 3§ Sddadr - o ¢ 95 av: gull
Fa- SR | SrEmafy 7T o= g 7 W

Q.No: 1 HgTHI el ST U STRid ¥1?

A AR
B YagAHRRA|
C AFF=RA|
D SR

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passaqge:
Hara:— SN IRt ufdw@n uyH s eardeReg: Ifdar] I e Rrad|

T TETeT qAGaay A JII Fuafa ¥ aut srqonf gxa: Sif S STsi~T W | Jaem-a) : SFMT T4 SR W | Sl 9: TeTell Yag- Iaaar “efeld AFa:
TIGHTTS S | W1H Uq fowa] 9: Sedie R &g fawiaar Td| Td 9 $UH SHRERFH? $Y a1 Hgmi:?” 34 | Tae- Ay | S8 Joi: Feidr 399w Ty
¥ar - “YaF SRR S dremidl feg i yar o $aReR St uraar? 3

HETAT $faaq - 38 g Uidie-TH S5 g2iH BRI | ya 1Y i v Hafd e $HRaxiH srawd U Ty 8 Twr: i I§ Iadar - 3 g 9§ aueg: gell
Fa- T | SRIafy T &%+ g F urw)

Q.No: 2 3R AFG: $F F&:adu?

A SffqEmamE-aR|
B SR
c TieAmE |
D HUcagdl

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage: Page _ 1

Hebg:— ANIRIT =i ufden v faseaereg: IR Iw e fRrad|

I TIY 7 P T T W T o s T T = T T T DT L Sy e I 0 RA o 1 A o A4



FY HETHT aSavaay A1 T Fuafa W auf sqonef gra: i S Siis i<t W | Taa=R 9 SHF! B4 StRid ¥ | Sl 9: TgTel Yge- Iaddar “eeld Aa:
HIgHRTeT J: | Wi Ta fawae §: sienfars foma $g fawaar] Ud | Td o $UH SHRexAH? Fd a1 Hemft:?” 3 | vae SAIa] | $3 Tei: Aee ] U Uy
EaF - “YaH SARIRRAE SF el g [ yar o $aRes daif uraar? 3Rk

HETEHT 3 - 318 g Ul SR o< HAM | yar oif Al yad Pafd dfe Suvas o Wl dgal O T BRI S5 SHiaH - oF g 95 av: gui
Pa- AT | SEmafy T &k g 7 )

Q.No: 3 I Waq $RE Had War? $ FaHGH?

A HeTHT:|
B |
C Y|

D |

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Tobe:— SN Terit ufdan Uyt fAsearasaa: Sfdary W T forad|

Py TETET qEauaTy A JEI Huafa T 9N saondf gra: Sift S SFTsia ¥ | JaarF=R 9: SHMT U SR ¥ | Heifq 9 Jee Yoo Iaadi “$Ed g
TigHrTee d: | @R Ta <A §: senidis i $g fawgaar Td| Td 3q $UH SHRaA? Fd a1 Harnfta:?” 3 | Tae SHIa | S Soi: TeidHY U Uy
YFAF - “HaF $eRIAS S sieafal feeg i ya w@an $aRes Sarfy uraar? 3f

HETET S - 38 q UidierH $4R% =i+ HUM | war il Al e Haid die SHRERITH Sa%d Whogaml” Tyl 9 Toi: {pTH G Jaadr - 378 g §gi0: ava: Ieii
Fa- AT | SREIafy T &=+ g 7 e

Q.No: 4 T 3fdcd - 3 b: TDR:?

A Wl
B gl
c el
D |

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Hova:— Sfeforlad et ufewr v e aaeeg: IfRdaaas I frar fied|

FY AT qSagaay A1 T SHuafa W auf saonf oqra: i S STsit W | YagaR 9 ST U9 StRid ¥ | Salfd 9: T Yag Jaada “sied AHa:
TigHrTed d5: | i Ta fme 6: srefdrs o g fowadr tdl Td 3 S 33 e o8 a1 Mernft:?~ 3fd | oo Saa | S5 gei: Tee U Uy
TEaF - “HaF SRR S siwafi| freg {6 Yo o SaRa safy wear? 3

HETHT e - "3fg g UlafeT SaRe 2 HAM | yar 3 afe e Sl dfé SHREH Savd WU 1 Tl §: Toi: bR SN Saddr - o8 g 9ged: 9% gl
Fa- T | SEmafy TR &= g 7w

Q.No: 5 fa7 famt 30 wgerd U fopop?

A e
B HfafeH|
C fa wfal
D ety

Correct Ans : B
Subject : Sanskrit Bhasha 02
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Passage:

Tobd:— SreNferiad Tt ufea@n Uyt fisaaraeany: Sfdady S e foeal

Py IR qSgyaey a1 aeI Suaid ¥ aul #qund gud: St S SIS 1 | e O S T St W | Sl 9 Tee Jae I R 1a:
HigHR J: | X Ta FIa ¥: sienars foma $g favwgad Td| T4 3q $UH SHRaAH? T 1 HIeiit:?” 3 | Tae TAIGH | $3 Toi: Aeery Suay Uy
UFaH - “HaH SRR T gy feg [ va Wor SRR et ywrar? 3hl

T SR - "3fE q T SR o A | v oifly af e gl af SaReR srawd drdogaTd1” dager 9 e R SE Saar - o g age: aha: IE
Fa- AT | SEmafy T &= g 7 )

Q.No: 6 W—Wﬁ@ﬁl

A TG + @l
B qq + el
c aq + gl
D A + el

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tora:— e Tert ufda@r wyH e araereg: IR[aaT S e firad|

Py TETET qEauaTYy A JEI Huafa T AN s gra: Sift S TS ¥ | YaaH=R G: SHM! UYF SRS ¥ | Heifg 9 T8 Jao- Saadi S| a1
TR g | WA 19 g 9 sieidid R o fawgaa wa) U 3 UH S3Raxe S a1 Memnfar:?” 3 | oo Iy | $3F Ioi: Teres Suaef us
UFEF - WA SHRIRREAT S Siafd| g [ Lo an $aRas baif ureare’ 3hl

HETET 3fad - 37 g WidfeTH $4Re e HAM | v i Al vad Fafq afc SR s arogam 1 Tl §: Fwr: fpfq 3§ Iada - 38 g §ge0: av+: guif
Pa 9T | SrErary waT &R g 7w

Q.No: 7 3§ §g¥0: IH1%: UST o iR - 3 [IRwore, e

A 3|

B TFR:|
o |
D |

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Hara:— SfeflRed Terst ufewr wue s e neg: IR I frar fied|

FY TSI aSIagaa-y A1 T Hafd W auf srqonef gra: i S SiiTes i<t W | Yag-aR & SHHF! U StRid ¥ | Salfd 9: T Yaa- ol “efed AHa:
TRHEeT S: | T Ta famag @ snenfdrs fama g fowjaar a1 Td 3q SuT S4RaX e $3 91 Mamfa:?” 3id | Taa- I | 47 I Telem SuaE uy
P - “HaM SaRifefAvd S Suafy| feg [ war Woy $aresiH Bt waar? sfl

HEIAT Sfaad - 3§ g Ui S4Re e HAM 1| yar oif afe yad Hafd afe Sl sravd aregardl” Tl §: Fwi: fBRiq 3§ Saddr - 88 ¢ 9gu: av: guif
Fa- T | SEmafy TR o=+ g 7y

Q.No: 8 F& Twi: HETHMH SUH Uy YvaH - wa-aq 3feqd foan feraal

A DI
B
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c KR

D poul

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Tpa:— srpfrfad werizt ufdan wsml faseraerrg: IRy I e frad|

EREEEEIPURICSIGRE
S §H SgHepigan |
qunfA rr uRkeFaema
T ST YFRHSiaaH 11

Q.No: 9 A AT RA ?

A GoLIRa|
B AR R
c R

D LR

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Tba:— SteNfriard werizi ufean vy faseaerreg: Jfda W e foed|

ELEEEC PURIESRIGRE
S g IghucehIgad |
qonty T uiReaeha
T SAL YTRISifaa |1

Q.No: 10 % uRur a7 ?

A HRAAURYH
B FHIYHURYE
c FEPAARYTTH
D THTIIRETH

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tara:— SHeNfrRed geri=r ufean wyH s aaaeReg: Jfdar S i forad |

TR I AT aH
S g SgPveHIgad |
Ui gran uReHdehd

T SR YEiiaaH |1

Q.No: 11 PRl 9+ 91 ?
A
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AT a avF
B gefifeRfee o TRy
C SEEd a R
D Sy 9 9
Correct Ans : A

Subject : Sanskrit Bhasha 02

Passage:

Toba:— NI Tt ofewan Uyt fseaeeaa: Ifadaay W e fed)

TR I TSR Ay
S B SgdueshIgad |
qUT T UReFaehe

T SREL YRIHSiidan ||

Q.No: 12 fFawe?

A XA RISl T aRH

B TRAH YGHIaTH T TR

C YA TafeSia] T 3
D FANHS TAGIMGIaTH 7 9%
Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Hahd:— SeNfIRad Teit ufew@n Uy AP aaareaea: Sfdany W i faed|

BIEEE P I ESIGRE
S g Sgpuepigad |
U T UReFdcha
T SYH YTESiaaH 11

Q.No: 13 depat T fH ?

A TG GF
B o g TH
C T TP
D e 9H

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Topa:— SreNfoRad Tenst ufdwn uymT fasearereiaea: Ifdary Iw frar gl

EREERE P RICSICRE
S g1 SigehveehIge |
qunfA rEr uRkedemd
A gy YFRHSiaa 11
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Q.No: 14 FUcHgar’ - IRDE Fod |

A BUEPHT+TAH
B PHUCHT + ST
c PUCEH + HIFTH
D HUCH+HTAY

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Hopa:— SreNferRad yeniei ufdan wmi fasaararpiaRed: IRiqany S R forad|

ERCE R PUEICRIERL
S g SgpuehIgad |
U T URYFdeha
T SAL YTRHoifdaH 11

Q.No: 15 SgPHICHad fH ?

A &
B M
c Bl
D WaT

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 16 *9u: fqurg i qaIf’ 3 X@Ifgaus b uyardd ug Haq?
A Eao

B 7o)
c o
D B

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 17 fiymaifa ug forga -

A T
B JGH
c g
D 3RigH

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 18 : UeRH T - NG T9d |

A S
B S :
C o
D I

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 19 FrreyRix: Weag: -
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4 % 44

A
B
C
D
Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 20 'yeUa®: 3fd Uew g favgarad e

A UoIN: Yleip:
B YSIHT Uleiep:
C YSITYg YTelp:
D OTIT: HTeTP:

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 21 SRR 3fd U wgfd: IRfd<dE: &2

A SIRIUT+ 3R

B SR+ ST
C SR+ 3T,
D ST+ 3T

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 22 FHIJARITRT BT Yuel SARATAHG S SER: fRaeRT Hafd?

A Tayoredt
B Gt yoTet
C Spefyomedt
D RS YoTTedt

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 23 3¢ UfiwTe THw! HETaT U0l Ul HareUaaifIamT: SieH Yafd aF S Rl ufdg wefa?

A SEARTGIT
B RISRIT
c fefiofer
D TR

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 24 HH-IEFY 3NI: Hidqa:

A gal-Ppal

B St
o RER: )

D Faftaesao

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 25 HISTAEMNT IHRUMIR: Hal Hdid?

A THR-THY
B STIBRU-IET YT
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C

D

SeiarETe U4
TSRO T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 26 YV TEH: I T8 Hafy

A
B
C
D

AT FE
TR IRV T8
gl 9
A% o w7

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 27 fRigman: Fa T SvaiRe Jrer T aedd -

A
B
C
D

FHERTAH
IR
HeTfaEer:
T

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 28 Tt S faRF &maMl HIAHT, JUT U5 d-faq- Slue-33TeH], TS (Potential) $4t¢ AARIY a1 Har wllen & Hamd?

A
B
C
D

Sfigfy TdaT (Aptitude Test)
vaftr Tdiem (Attitude Test)
Iuafer-uder (Achievement Test)
ﬁgw—m‘}&n (Proficiency Test)

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 29 udiewi Hewyyf vaf

A
B
C
D

TR Ripd STERAGHTRT
iftrrpamf S
HOGRT B IRAIGH

P ATBH HAGH

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 30 1fiq1 U HURE Uofd | Td YRS T+ Had

A
B
C
D

wfemf e 3R
ey o sfa
faard ve <o
ETwRST Sfr

Correct Ans : B

Subject : Sanskrit Bhasha 02

Q.No: 31 HW AR TRA P L P TH Aew@qUi 2@ ___ 2l
gl &1 e He

A
RIS Pt BT BN B

C TR § Figer S
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D Fad AGT DI BT [T 1N

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 32 gy arpht @t wurelt <t § o 7%

A LU E|
B STHYF B
o w8
D Etetuil

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 33 U & [ & IMfRs 7=t e g we § wiifs-

A v 5! THE & 9Ty B T9d SR §

B Rigre Bt FHoif Bt g9 I

c RI&iF B I5 SR B BT HawR &t § %5 T BT 4o 51 77 W@y §
D it 9= & T BT BT i &1 F el a1 o qeval §

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 34 UI® U6 &F 3id # 1 dIigu-

A TR
B oAt
C U1 &1 4R
D iR

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 35 Tl TR W 19T e 7 3T T8 -

A B! P AT F TR TUT HF TS = Bt IR0 AT
B I AT WaTE ST Agar ST Bl

C I BRI FT 3 I & Bl

D HIHTST BT JH &7

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 36 STee Ul &1 et Reor & < -

A B W YiH Tol Hd
B BE A &7 e o1 e 9
C BE R Ar-fudr 7 e affe oS an 98 S e

D BHE i A Y 31 e 78 8 um
Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 37 fzmerdt & ¥ A MuRe! $1 o9 & g 378 T S STm 181 @ 2

A gfameda T

B Faa Hife® U=

o Faa uRarerT s

D Hife® U= U uieiierT Hrf

Correct Ans : A
Subject : Hindi Bhasha 01
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Q.No: 38 4% # § oI 3(arg faiy &

A
B
C
D

Tl WTST BT SITHRUT UeS UG S &1
facdta TeT &1 SRR TR UG ST B

ST YTST BT SHTHRUT UHETY UG Wil B
Tt o HroT 7 TR Y wgT W 1

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 39 FEAJum-IwifRfy_ #3wri g
A R H

B o |

C Ty Rigror §

D ey fReqor

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 40 = & § wwr &7 Sk U4 fawr % SRR el &l Webell|
A TS

B farnera

C IRaR

D IRaR T fa=mrera

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 41 TS Sadl Fel BT e Uerh 81 39 WR R 32 fras fow v & =fee?

A
B
C
D

R U
SRTHR FAHAT

o JHIAT

TR faemsit @1 ufg

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 42 37 Wi TR R UeK wTH drel UTST gnft

A
B
C
D

TS
faett amst
AT HTHT
3Ty HIST

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 43 g & I 1 UINT T W 1 el 82

A
B
C
D

ST ST &1 FAIS ¥ SiIg BT B Bl §

HTST STeep Y Hidt T RERT @) Sifivore we Rawd 81
HTHT ST # T WK o TP AIAH B YT Fmd 31
TSI STAD & UGl B e & F a1 §

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 44 39 & & Fa1 Sl &1 St uqh 32
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A wifA®, AmEeiG
B AGEIRS, WHIND
C R EEC) DEF

D GNP g FAATINS

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 45 gt Rigmn & a¥dt s arelt Fraer T8 8-

A PUIGE TTAD] S TR o
B I T 3R Hsgd &
c FUERg & 1T SR PG T AR

D HYRY S5 g o

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
&= - foU U TR 1 UeaR UR TN URA & JeY Sfud SR N fawen &1 9ae Fifo-

ARG SAMY S SR S HIs 7w ol Gall STHT HA0 SW J Iadl 3, fbg I8 A&7 g HR-aY i 81 91 8| =1 Ag-Fafor 98 8, S S &1 ot )
TR YedT &1 IS AR SR T 518, S By & Ru ot #%; g Try-Try 32 RR-®rh <Y 9 w3 Qufaan SRRa-Ufd & R I8 snawas € 6 S9ams 39
el F e TR 811 Wy Isdl # 81 g Uad §, [ g up-Fufo F vua $ e ga gam ot e o S @ 3R w9d! 8, fhg 39 ofty S a1 € e ugeh

ST BT A1 A GATS SN AT R T B T Sl SR et A o IUSISH’ S 3 HUYR HRT F AET0 IR B4 §| 39 B B Ha-foa qyfed &
T G -1 T8 Uy AT H Ta9R g Piel Hrdl 1 39 fadeq § g Ig-Fmfor § S Bt dur 1 Tew UgaH i 31 98 S {69 UPR daR gl
22 39 Y FT IR YS! JHEAR-TF S| FH0-F1a T 3l THeER-07 T § St @urdd 6l 11 df Hid $U 9 98 Sdardd gl oidl 8, g ST At
% forw ot &) smaxaw g, foran fAafor 1 wmedA)

SAHFE P 0GR $X & o TarER-v e i &1 stz a5 vy om & v [Jare R gu 7, ife a-e aumeR-u fire-fe St o stxa s e veiid 8 8
Fg o fop g-Fmfor 1 disd W S wiknes # - €l 8

Q.No: 46 4= 8 ¥ fra wsg-gm o1 v Iuort ey & e} fovan wwawm @2

A -
B -k
C fg-foa
D Y-

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
= - U 7T T ) UgaR Up TN URAl & 99N Sfud SaR ald fd@ed o1 99 Sifo-

TIRIG SITHIY % SR &) 13 Hew ol adll STPT A SR J Jad 8, g I8 a1 g WR-[wy e 81 S 81 F< Ig-Fmi0 98 §, S Sars 31 i )
ST g §1 AISHIE IR SR Tl &8, 3% iy § uRurd oft &%; fbg Try-ary 3% FR-wirft §910 Ten e guiaar Sexa-yfd & R a8 siawas ¢ f& e 31
el F AT IR 11 WP Wsal H §9 $8 9ad 8, [ e ap-fFuio i wad & R g9 gar 9l e &1 Sl @ SR Sl ¢, g S Y SHEE S g e ueil

ST BT A1 A1 ga1s el a1 R TTal &1 Bud I SR ool " aifiids 3 Sueliell’ Sfigiad & HUHR YR & HET0 Sl I § | 39 Bd &I [ha-fod gyféd &
T B RH-TT? T8 T AR F IR 31 HICT HRall 51 59 fFde & 0 IY-FHior & S &1 qar T Hed Uga T g1 4 S 69 YR daR sial
22 3T Y P IR TP JHER-TF S| FHfor-Frar # 3 THRR-0 Tqaaa- 3 SRR Eads 8 71 o Fi¥d 9§ 98 Sda=gd o) ol §, g g FHafor
& fore It &1 erraad ©, o Fafor o1 wwed)

S B TR FA & Y TR o A 1 erede 7w U orm # ue faere i gg 75 it - Trrm-ua - ifodi @ Stxg sme we e 814§
7g1 a fop y-Fmfor 3t diemrd +f I ARy 7 - 8 2

Q.No: 47 Y Teli® & ER, et y-fFwfor o1 82

A S S B AR R SR Ted § 1 SN IR SR e 99, 3 ey 1 uRur ot S

B S SFTAFY B QORI IR 1Y 7 Igdl 21 WIS e SR I9 9910, ¢ ey § TRoe Hi B

c S SFEFR BT YR R IR g 31 AN [ 7R I S SR S Py & o T @

D S S B AR TR TR I8dT § | S e SR I e ST, T 9 By § uRue ot 9 w1

Correct Ans : A
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Subject : Hindi Bhasha 01

Passage:
&R R T T TR $ UgHR U TN URAl & 99 S SR ald 9% ed $1 997 Bifon-

ARG TAMY & SR ST Bls 7w ol Gall SUDT FHA0 S F Iadl 3, fbg T8 AT gl HR-awY FH{0 §1 91 5| a1 g-Fafor 98 §, & S &1 it )
TR YEdl &1 Ao AR SR T 518, S dried 8 R oft &%; g Try-ary 3 RR-Rieh 910 Tam wd gufaan SRRa-ufd & R g8 sravas € 6 SWama 39
Tqrorrelt & RIT T9R Bl TF el H g1 g 9od g, 1 Il IP-Fi0r U BUa & T 30 90 a1t [5uH &1 $1f @ 3R I8! §, g 98 YiH o9 &1 g S0 ue

ST T 1 o gaTs ot a1 O Tl &1 T oIll; OfT Sfioiha “ifiE o SUSSH’ S & PURR HRd & R0 IR Hd 5 39 HUd B fhg-fvg qyfed &
T B H-FT? T8 Ty AR H IR g1 HICT DRl o1 59 fadeH F g0 AP-Fior & SR &1 Ut 7 Hewd UgdH 1l g1 98 S 63 YR daR sidl
22 3T Y FT I AUSH! JHEAR-TA S Fior-F1a § afe THER-0F STl 9 SiRa @uds 81 11 o Fidd U 4 98 Sdergd 81 oIl 8, g Scmmaren FHafor
F forg St &F srawa® ©, o Fafor a1 wwed)

SFHFY B 0GR B4 & I GHER-U T =ifd &1 sroemd? a5 uy oivm B U faarg fou gu §; i fa-fm armar-ua - Hifadt o Stxg e ueiRe 8 g1
T51 7 f&5 Tg-Fmio 3t demm 37 AR # - g 2

Q.No: 48 ITYH TN F SR, 1 AP-FAf o woa & g a0 Tam o 5o &1 o1l o 3% I@d! 8, g 39 yf% SHam 31 8 s e

g, sy
A WU T <l gars gnit a1 fsR e 3t waw gl
B Faa TG B B G Rl
C e §a1E BUd ol BTl
D Fis W 51 gt

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
& R U T TR Y UgeR U TN URAl & e Sid SR ald [dded &1 99 Sifone-

MG SFHFE $ SR $1 $1s Hew Tl adll 9T Al SR I 900d1 3, g I8 amer gon yR-[wy Fafu 81 o 31 g= wg-fmfo 98 8, S o9mme &1 0ol ®
SIRG TET &1 AOHIE I IR Tl T8, S SR § oo oft &%; fbg Ty-ay 3% RR-®irf g0 T ud quiaan Sexa-fd & R a8 siawa s § f& o 39
el F forg daR 81wy =3l & 59 @ 9wd 8, [ g p-fmfo T wea $ R ga gam o e o ol @ aR aed 8, g 39 ofty s a5 8 e adei

ST T A1 N gars et At R el @t v g1 Sk St i 3 SuSel SiEia & HUUR YR ¥ HEU TR IR § | 39 d B fha-fed gyfia %
T TG ARA-T1? T8 T AT H I 8 PIeT TRl o1 39 a9 I 56 MY-Feie § S @1 GU 31 Few UM T 81 I8 S [l TR JaR aral
27 3UUY B IR NIHI JIRER-TF 11| FE0-H1d § 3 JUER-07 THmaE-] 9 S @aldd ol 41 a1 Hidd ¥4 ¥ 98 Sdeaa]d ol ol ¢, fohg SeararesT -Hfor
P Rore 3ot €1 ermaxge 8, R Fafor 1 gl

STHY B qUR B b [T FHER-UA b <Aifd @1 eued? I8 U o # U faars o g4 §; it - qeraR-us - ifad @) 38Ry s v g 8
Igf 7% & g-fmfor 35} e o 399 ufies & fig-fi 9 )1

Q.No: 49 Iuad TR & IR A HYF PI IG BHiforL-

A T 1g-Fmin S wea F R 59 9 9 B S S o wY g g, g 99 4 o B @ s udih
B mfur-erer § e THRIR-UE YGHTAEMT & SoRep @EgTete 8l 71 al (iRl ¥U 9 98 Sdoiread e 81 urdl 1

c e p-Fmior 9% 8, S SFEEE 9 39w suiid e 3

D THIRIE SHEHY & SR 3 BIE A -Te) all

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
= - fou TTU T A UeaR UR T URA & oY S SaR 9 fiwen o1 e Fifsm-

ARG SFHFY & SRV 6l 1S 7o ol adl| 3UH] FAf SWR J 7w 8, g a8 T g3 HR-awy fmfor g1 S 31 = Ig-fnior 95 8, S SAaF™ ot da’t
SR Tgam &1 FIoFIE IR SR T a4, 3= Pried § oo ot &%; fibg y-ary 3= RR-wird T918 @9 e yuiqar SRRa-f % R a8 sowaes € 6 e 31
ol & oy TR 81 T I H 7 $8 9ed 8, [ T ap-Fmio S vua $ R 59 99 akl 7 &1 e @ R 9@l g, g 39 4 e $ @ e wg

ST T A1 < §ATS ot a1 O T @1 ad gl SR el i o SUSISH’ SHigH & HUYR HURT & TR0 IR IR § | 39 HUd B fha-foea gyfea &
T T IA-T? 98 U AR B 999 g HIel Sl g1 39 339 ¥ g -l § S @ qut 1 ied UedH ol §1 98 Sy 5 TR AR g
T2 3T Y P I YS! JHEAR-TF S| Fior-orar § afs THeR-uF Teqarda-T 9 e @urds 81 1 o F¥a U § 98 Sdergd 81 o 8, g Smreren fFAafor
% U I+l B siaxaes §, o Fmfor &1 Jmed)

Y B AR 4 & [ IER-UF f6d i 1 smend? a8 Uy oA § T faarg o g¢ §; Hife - aaeR-us - Aol o1 38 s ueii[ 84 8l
75t 7 o5 g-Fmfor 3 Ao of S ik # - el ¥
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Q.No: 50 IUYH TR H TG Wex “Poioaega” bl 1+ 7 J Fr o5ef 72

A ot 31 P 9 gl e e
B S ofsy Ha H I g |
C Ffed TGT B Il

D SNERAFITF TR E

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
T - foU TTU TR @) YeaR U8 TN URA & JaY Sfud SaR ard fawed &1 9a difo-

TG SFHE & SR B BS Ao ol &dll STP1 (A0 SR & T 8, g 98 et gon YR-ay i g1 S 31 F=n I9-Fafor 98 8, S S 3t it ®
SR g §1 FIoHIE IR SR Tl &1, 98 Hried § uRord ot &%; fbg Try-ary 3 FRR-wirft g8 Ten e guiaar Sexa-fd & o a8 siawas ¢ f& SFamw 31
JrorTreft & T TR 811 WE I3 § 50 $ Ued g, [ ar ag-Fui i vua R 59 99m 9 f5uE 1 S df 3R gadt 7, fhg S8y S a1 8 et e

ST BT A1 A1 ga1g el a1 R TTal &1 Hud I SfT STl " oifids 3 Suelell’ Sfiaiad & HUHR YR & B0 SRl I & | 39 Hd &I [h9-fod gyfad &
T T RA-T? 98 WY AR T 999 g1 el ST gl T e ¥ g5 g-Fmie § S @ ud 31 Ao UeE o[l 81 I8 SHEY 5 TR (AR g
2?2 39 UY FT I MUD! JHER-T | Fnfor-ore § afe T0aR-03 Qe 3 IoRax @ued ol 11 df P U 3 98 Sderegd 81 S 5, fg Semraren et
¥ fore It &) simavaes g, foram fmfor &1 wmd)

TR B TR FA & 0 THER-T 5 i BT Smet? 78 Uy o § U9 faars e gu 7, e fira-firm Trrem-m fim-fim il 31 Stxg e veie 814 31
75t 7 fo wg-Fmfor 3t ot +f I aRass ¥ - 3 @

Q.No: 51 f4F # § zRen A HI9-71 TAN 8?7

A TGN T
B FHYRYG T
C SrEdTHIT TH
D EERLIS

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
= e U T T $ vgaR Y T U F 9Ed Ifd SaR 91d fdaed &1 99 Sifeie-

ARG SFHFY & SR P B Agd el &dll $UH! it SR & Taar 3, fFg 98 el gen YR-awy o g1 Si1ar 31 w= Ig-Fuior 98 8, S Sy 3 ail )
SHTEMRT TGl &1 DS [ SR Tl S, S8 PRIy # uRord ff %, g ry-ury 52 RR-wrl a9 Tam vd goiaar S3=a-gid & o 9 siawaes § & smmw 9
el & g TR 811 WE I8l # 79 % 9od ¢, [ g ag-Fuin F wua & R 50 99 and (6 a1 S O 3R 96l 8, g 39 iy ST B g e gl

ST B 91 A1 a1 el a1 R Tdl &1 had g1 SR Sl d i o SuSiell’ Sfiiad & HUUR YR & TRV Sl IR § | 39 Bud &I fha-fod gyfad &
T TR - TT? 98 U AR 999 g $Iel a1 1 T f9de ¥ g - Fmin § S 3t aat 1 9o Uga R §1 98 Sy 59 UeR 3aR g
B2 TUUY & IR IHI JURR-UF | FEfo-ora § 9t IUeR-0 SomiaE 3 Saa) @udd g T ) RiYd ¥ ¥ 98 sderad 81 o ¢, fihg aermrarean fafor
& e I+ &) simaxaes §, o i &1 wmed)

A P AR B &b O THER-T 59 ifd &1 oeit? g8 vy o A 1o f3a1g i gu §; ife RE-Ne gumeR-us fim-e i $1 Sexa s ueiid 81 &
TgT o o p-Fmfor &7 A oft S aikres 7 - gl 8

Q.No: 52 7= & § BH-T1 e I BT YGNT B FI1T 71T 82

A 3menia
B ST
c fawr
D PRI

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:

&R - f3U TTU TR 1 UgaR UR TN URAl $ JaN Sfd SaR ald [d@ed &1 994 Biford-

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/51
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ARG SFHY & SIFRU 6l $I3 Hewd ol aall ITP1 Fi SR 4 =@ 8, fbg g8 el gen YR-w\wy Fafon g1 S g1 == 1y-Fmior 98 3, o Sy & aull )
SR YEdl §1 TS W SR Tl 518, S SRy | uRurd oft &% g ary-ury 3¢ fRR-Rirdt sA1e Tem wd gofaan IRa-ufd & R a7 siawass § & Sem 39
el F 1T TR 811 WE =3l § 39 58 9ad o, & g ap-Fufo T wua & R @ 99 a)l f5em &1 S @ 3R S5 8, fhg 39 ofty S 31 g e gei

ST B A1 1 gaTs et a1 R Todl @t et g1 SR ST i 3 SuSell SEieH & HUUR YR & HENIU IR IR § | 39 BEd B fhu-fod gy &
A T IRA-HAT? I8 WY WK H 9 g1 $ICT H 81 T [ I g AP-F0r § SAHY 31 3all &1 Hed UgaH ol §1 U S-HHY g TR qaR gl
22 3T Y BT IR YS! JUER-TF S| FHiv-ore § afe THeR-u TqHaE-T 9 SiReR Suds 81 11 d Fidd U § 98 Sdoregd 8 oidl 8, fShg Semraren Fafor
% forw ot B smaxas g, foa ofor 1 wmedA)

T B R $R1 & U IueaR-u few R &1 sroemde a8 uy o # U farg R gu §; Jife E-Am areR-u - ifodl @ 383 e ueiiiK 8 g
Tl e {5 Ag-Fmion Bt oy i S ARk # -1 g §

Q.No: 53 = & § “Iuaa” &1 981 I =g SI-31 87

A SR + R
B JUR + g
C SR + I
D SuR + IH

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e B Bl YgaR UF U URAl F 9o I SaR ad [awey &1 7o Fifve-
AG-%, WI-TT IR TOTH

T 3R BT ST, JAPT XA-R1d SR YT,
TIG-, Wd-X1d §R YOI |

W R g i, g o T,

AIG-¥ I4-Xd SR W]
fenfR-11 S9d a9 s,

W =R AT AR,

418! ¥ § ag-ard

ot ¥ viaT 7 @RI

T Tyl @ onfe quiksf, Awfaf siftrm
G-, Jd-]1d IR JorH|
Bol-%al 9§ gd 91-39aH,

W AR T gI

TSl @1 fFa s |
Tad-g%d q dic Y8l § g@-9ur, 4F-4ml

1g-2{ d-21d SR JOTH |

Q.No: 54 = & § Iwad Ufdadi & ARal $1 919 Fd13e-

A yTaeieRor aaf
B TR o
c HerRd At
D =i feEg

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
&= HIA H UgaR B T U F I Sd SR at fdwew o1 Tae pifo-
HIG-Y, -2 dR YA
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/51
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T SRI ! S+, TP Wd-T1d IR UM,
TG-2Y }A-Xd §R oM |

W R T i e, s o W,

Tg-2 TG-Xd IR oA |
fRufiik-a1 99d qa T®,

AR TR0 AT AR,

o1 & § 9g-ang

ot & § et &1 wR|

T Gf P snfe quikaf, dofaf sftrm
HIG-3Y T-Td IR YUIH |
Ha-Hdl 9 gd 99-3U4d,

R R W g E
@Sl P a1 sme A1

HoI-g q die & & YOl -4

TG Td-31d SR YOTH|

Q.No: 55 Iudad g1 & fom 3fa Wife o1 =7 Fifvm-

A @Rt &1 a1 e o)
B anoft & R i 7 =R

c G-, X7 IR JOmH
D Ho-al q gd g7-3Ud,

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

AR FTAIY B UgHR YB MU U & 9a IR IR a1 fadbed BT 9o Hifor-
G-, TA-Td IR Yo

T SRl Bt ST, gD A-T1d IR WO,
T1g- Td-Xd SR WO |

W R T g mel, g o T,

-2, }I-R1d dR YO |
TRHMR-31 I dd F,

A RO AT AR,

o H § da-ag

gt & § Tiar &1 wR|

T Oyfa @t ey quaf, dofaf eftrm)
AIG-¥, TA-Td SR WU
TR T QA G,
wal-Rdl § gd 91-3uaH,

W R W gen ®

TSI 1 T ST |

HFd-g q die 3 & Fo-Aufd, oF-um)

TIG-Y d-31d SR JUIH|

Q.No: 56 fmfafed & ¥ fu ug o1 vam Suded dfdml & =1 fosar mar g2
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A -4
B qad-g%d
c wfe-varf
D Eegerid
Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

&R T B UgHR YR U U & 9ad IR IR ard fadbed BT 9 Fifore-
HIG-%, Td-Td IR JOTH

T SARI B! S+, TAD! TA-T1d IR WUMH,
-3 ¥A-Xd SR JomH |

W R T =g mef, g o I,

TG-3Y ¥d-Xd §R oM |
fRumR-a1 I dd i,

W T AT AR,

oI # € da-y

qoft & § il &1 @R

T Oyfa @1 sife quiaM, doRaf SftRm|
g3 G- SR oA |
W § WA G,
Ba-Bdl 9§ gd §9-3Ud,

R o W g ®

Gl &1 a1 s o)
HeRI-g%d g S % & YE-Iufy, ue-4m|

TTG-% - IR Y|

Q.No: 57 = & & *quryfly * & FH- T 32

A oy &R G
B o1 WR Y
C e §fY
D formt wfy

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

=T DT B TR TP T U & 9o I IR ad fabed BT I Pifon-
G-, TA-]d IR JOMH

T 3ARI 3T ST, JHST [A-J1d IR WOMH,
TIJ-Y, Id-X1d §R JoOrH|

A R T =g wef, g i T,

AIJ-* Id-]1d IR WO |
Rafik-41 39d 99 7@,

AR RO AT AR,

oI A § da-ag

amft & § whar &1 @RI

T Oyfa @t onfe qufiaf, dwfaf siftrm)
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G- Id-J1d IR JoH|
Hd-Bdl ¥ gd 99-3Ud,

W W g §

Gl 1 fbar s |

Tad-g%d q dic & § gu-gul, eF-4m)

HIG-¥ Ud-Ad IR YUMH|

Q.No: 58 IUYe UeIiT P SR Rad M N g SIfere-

fenfiR-T1 I 99 7%, I TR AT AR, Jg-Fon, aroft & & v &1 w=R|

A I H §
B YR A
c e A §
D TR A E

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

=T T B UgHR B U U & 9e IR IR ad fadbed &1 99 Fifor-
AIG-Y, TF-Id IR YOIH

T SR B! S+, FADI IA-T1d IR TUH,
AIg-* Id-X1d IR W]

W R T 2l e, g o v,

G- T4-R1d SR JUTH|
TRHRIR-T1 JeId dd 7D,

W TR AT AR,

oI # § da-g

qrolt & § i &1 @R

T Oyfa @1 sife quia, doRaf SftRm|
T1g- Td-Xd SR WO |
Bol-%dl 9§ gd I1-3UdH,

R W gen ®

@Sl &1 fdT s o)

HeRI-8% S 1 & YE-Iuldy, ue-4mH|

G- Id-3d IR JOIH|

Q.No: 59 = ¥ 9 s 39 F7 R yg T 32

A Y
B G
C e
D fidg

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
R HTY B TgHR I MU U & G IR IoR a fabed BT 9 Pifon-
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17/51
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TIJ-Y, TA-]1d IR Yo
T SRI &1 S+, gHP! Wd-d §R UM,
G- Td-]1d §R WO

W R T iRg med, g i T,

G- Id-3d IR JoUIH|

fRAMR-¥1 Iod dd 7,

AR TR AT AR,

1! 9 § da-Harg

aroft # § e &1 =R

U Igfa ot enfe quikaf, Aufaf siftrm
G- TA-Xd IR JoIH |

Tol-%dl 9 gd 91-39ad,

& e W g ®

GGl 1 fbdT U o1

Had-gd  sie 3 § Yo-Wuf, oF-um)

193 Xd-3d SR TUTH|

Q.No: 60 e # i) 1 e wisg 7 @2
A HifaaE

B e
C TSR
D Tt

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 61  Which of the following is divisible by 12?
2461590

fofafea & 9 @9 12 9 favsa g2
765432

765432
35780

35780
54312

54312
42950

42950

Correct Ans : C

Subject : Mathematics

Q.No: 62 1,1, 1 L
2467046 If5+5+;—4,thenx—?

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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A S+ = 4 Hx=2

24
11

24
11

Correct Ans : B

Subject : Mathematics

Q.No: 63 If a number is as much greater than 31 as it is less than 75, then the number is:

2467101

e HIE e 31 F I & 7t ® iR 75 A HH B, o 98 WEm g

106
A

106

44
B

44

74
C

74

53
D

53

Correct Ans : D

Subject : Mathematics

Q.No: 64 What is the difference between the place value of 7 and 5 in the number 2574?
2467139

T/ 2574 W 7 3R 5 F WG AF F T 3R 82
430

430
B 570
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570

403
C

403

413
D

413

Correct Ans : A

Subject : Mathematics

Q.No: 65 The ratio of father's and son’s age is 4 : 1. The product of their ages is 196. What will be the ratio of their ages after 5 years?
2467217

O SR T B 21 T U 4 : 1 T SBT3 BT UAHA 196 21 5 Y S SH! 3M1G BT ST o1 G2

11:4
A

11:4

4:11
B

4:11

5:12
C

5:12

12:5
D

12:5

Correct Ans : A

Subject : Mathematics

Q.No: 66 12 years ago, the age of a man was 5 times his brother's age and at present, his age is 2 times his brother's age. What is the present age of
2467363 s brother in years?

12 99 UG, U G BT 3R IS UIS Bl Mg B1 5 7T 2t 3R el & IT ofRg SUF HIS BT Mg 1 2 A1 71 Iuf & IT% YIS BT Tl oirg o 32

18
A

18

16
B

16

20
c

20

24
D

24

Correct Ans : B

Subject : Mathematics

Q.No: 67 The radius of a circular wheel is 1.75 m. How many revolutions will it make in travelling 11 km?
2467671
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TF JOISR Ulgd $ A= 1.75 Wex g1 11 5w 3t amn & a5 fvan Taas amem?

800
A

800

500
B

500

1000
C

1000

2000
D

2000

Correct Ans : C

Subject : Mathematics

Q.No: 68 A housewife with a given amount can buy either 10 apples or 15 oranges or 2 watermelons. Find the maximum number of oranges that she
2467746 (3p buy with six times the initial amount such that, she gets each of the three varieties of fruits.

% ool §f I AR F Ty AW A 10 J9 A 15 TR A 2 WS TIE Jobal 31 T8 Ik ST AT IHT J1d HIoY o a8 TRMAS IR I 98 TN F 9 @l
Tad! § 39 TR, & I8 dF el & 9 1ds wa il

75
A

75

81
B

81

60
C

60

72
D

72

Correct Ans : B

Subject : Mathematics

Q.No: 69 . - .
2467994 The value of+/0.01 4+ v1.21 + /0.49 is:

V0.01 +V1.21 + +0.29 BIAFE:

2.1
A

2.1

1.9
B

1.9

2.3
C

2.3
D 1.3
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1.3
Correct Ans : B

Subject : Mathematics

34'1‘307307 If one of the angles of a triangle is greater than each of the two remaining angles by 45°, then find the angles of
the triangle.

If e BT o1 Ue 10T 99 &1 ot & J Ao 3 45° 871 &, I BrysT & bivr 1 siferg)

45°,45°,90°
A

45°, 452, 90°

90°, 45°, 90°
B

90°, 45°, 90°

40°,90°, 90°
C

40°, 90°, 90°

45°,55°, 30°
D

45°,55°, 80°

Correct Ans : A

Subject : Mathematics

Q.No: 71 If there are 36 spokes in a bicycle wheel, then the angle between a pair of adjacent spoke is:
2468061

i U A3frd b R § 36 TS €, O 3T B! & U Silg & &I BT HIU B:

18¢
A

180

10e
B

10¢

120
C

12e

150
D

150

Correct Ans : B

Subject : Mathematics

Q.No: 72 The standard form for 0.000095 is:
2468270

0.000095 &1 AM® &4 §:
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95 x10*

95 %10+

9.5x 107

9.5% 107

Correct Ans : D

Subject : Mathematics

Q.No: 73 A teacher uses a ball to teach the properties of sphere. The usage of ball to explain the concept is

2468565
TS Rigres et & i BT KM F R e 31 STt Xl ¥ SGEROT H IHeH & O g &1 3uhnT 2-
Teaching-tool
A
Rremr-Ius=o
Realia object
B
fraferar awg
Concrete object
o
3 7%
Known object
D

EIGRCE
Correct Ans : B

Subject : Mathematics

Q.No: 74 Which of the following problems are faced by teachers while teaching Mathematics?

2468636
1. A sense of fear and failure regarding mathematics among a majority of children
2. In reality, Mathematics can be taught only to a limited few with proper IQ towards the subject
TG e wHT Rret @ Fafifed § I 6 wrwsh o1 I SR usar 87
1. SgUTS Sl F IO BT AP WG 3R RGN BT UG
2. ard §, 1 g & ol SRa g & iy oo St S 3 € 98 Yo S 9l @
Only 1
A
Faa 1
Only 2
B
Fad 2
Cc Both 1 and 2
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1 3R 2 i

Neither 1 nor 2

a1 eRAE 2

Correct Ans : A

Subject : Mathematics

Q.No: 75 Riya got 60 marks in science out of 360. Find the ratio of marks obtained to total marks.

2469602
fear &1 g & 360 § 60 i I &1 VI i1 1 Fa1 Sipt F SUTd I Ffdre
3:4
A
3:4
1:4
B
1:4
1:5
c
1:5
1:6
D
1:6

Correct Ans : D

Subject : Mathematics

Q.No: 76 The ratio of 12 liter 400 ml to 6 liter 200 ml is:

2469664
12 wfiex 400 firelt @ 6 Tfex 200 firelt @7 oFUE B:
11:7
A
11:7
6:5
B
6:5
1:2
c
1:2
2:1
D
2:1

Correct Ans : D

Subject : Mathematics

Q.No: 77 What polynomial can be added to x? — 2x + 6, so that the sum 15 3x2 + 7x?
2469941

X2 — 2x + 6 U B 1 AgUG IST ol Ul g, Tl TN 3x2 + 7x BI?
A 4x2+ 35+ 6
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4%+ 5x+6

3x+9x+6
B

3%+ 9x+6

2x2+ 9x -6
C

2x2+9x -6

2x-9x -6
D

2x-9x -6

Correct Ans : C

Subject : Mathematics

Qo 78 simplify (3)° x (3)° =2
Foelmmd @y (3)° % (3) =7
A (27)°
(27)°
5 (27)°
(27)°
(729)*
(o)
(729)°
(729)°
D
(729)°

Correct Ans : C

Subject : Mathematics

Q.No: 79 According to NCF 2005, the mathematics curriculum must not be:

2475378

NCF 2005 & 39K, 0 BT UIédsHH ol ol a1eu:
A ambitious

EEGICat
B coherent

LU

teaching important principles of mathematics
C TR & Heaqul Fisid! B UG
D Narrow

Correct Ans : D

Subject : Mathematics

Q.No: 80 Which of the following is not a type of evaluation?
2475543

frafifad & ¥ S gegie o1 W UBR T8l 8?2

A diagnostic
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EEECd

B formative
TATHD

c simulative
non formative

D

IR TS
Correct Ans : D

Subject : Mathematics

Q.No: 81 Which of the following teaching aids will you use to teach representation of rational numbers on a number line?

T T R e gl @ e e & R s Fafaied & @ 59 Rieon Germe awnlt o1 Suae S

2475554
chalk board
A
H §E
gramaphone
° T
radio
C
TG
D taperscorder

Correct Ans : A

Subject : Mathematics

Q.No: 82 A teacher asks the students to draw many 4 by 4 squares and shade half of each, in as many different ways they can think of. Which type of

2475651 the given task is assigned to the students?

% e fafidl T Fear g 5 3 33 4 971 4 T 10 SR Ud® & 1) TR &) BMifded &Y, R e-3e alie! 9 3 I Iad ¢ fqenfial <1 fag mu fag

THR B H Wi m ¥

A Written problem
fofga s

B Oral questioning

IBde

c Performance task
presentation task

D

RS B
Correct Ans : C

Subject : Mathematics

Q.No: 83  The curriculum is not developed in view of:

__ I 3\ §U U fawiia 21 fpar e g

2475663
educational objectives
g A
child development
® CIGREEAE
national development
C @qm
D Teachers development
e

Correct Ans : C

Subject : Mathematics

Q.No: 84 The lesson plan helps in
2475897
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TS Ao § HaE Yl §

only applying theoretical knowledge in class

A Faa YifoF T ) Fa H T HRAT
only giving practical shape to the concept of management of teaching-learning
® et o1 T 7 SR 7 R SR 3
Both theoretical and practical approach
¢ i e g < e
D None of the given options
fow e foedt ¥ Y T

Correct Ans : C

Subject : Mathematics

Q.No: 85 Development is a process of observable social interaction. This is the opinion of

2481373
T 3 A grfe U 1 T Ui §1 98 M §
A Erikson
Skinner
B
e
c Robert Sears
None of the given options
D

foq g fawedl # @ #1E T

Correct Ans : C

Subject : Mathematics

Q.No: 86  Which one is not the type of test by purpose?

2481655
B A1 I § THE FT TSR T 82
Standardized Test
A A T
Essay Type Test
? ey THR waor
Objective type test
c TS weor
D Norm I:eferenced test
Rl BRCRE R

Correct Ans : B

Subject : Mathematics

Q.No: 87 One will have more chances of being successful as a teacher, if

2482426
e & w0 F 95d 89 31 IuTa s el Al
He belongs to the family of teachers
A I et & uRar 4 weifta ¥
He is trained in teaching
° a5 g 3 sy &
He has ethical values and a good character
¢ TEF U e e SR U ot IRA R
D He can organize his teaching material systematically an_cl conveys the same effectively.
% S+t Riarr TRl @Y arpTIaT ARG TR FdT § IR I TH T § WG R T 3

Correct Ans : D
Subject : Mathematics
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Q.No: 88 The facial expressions of students relate to which element of the communication process?

2482472
BET B I B UG TR Uieha1 & 5 I I eifd g2
A Message
B Receiver
C Channel
D Sender

Correct Ans : A

Subject : Mathematics

Q.No: 89 The appearance of normal curve resembles with?

2482558
AT g 1 IuiRATY ey et St 82
u
o u
Bell
B
T
Vv
¢ v

D None of the given options
fog g et 7 9
Correct Ans : B

Subject : Mathematics

Q.No: 90 Consider the following :
2482666
5+3=7?

The open-ended question corresponding to the above close-ended question is

R AR ®%

5+3=7

IR FI-TSS T F ST SI-088 Uy §
Give any two numbers whose sum is 8.

S 3 Jemd SR st 9 8 {1

What is the sum of 5 and 3?

5 3R 3 P14 1 82

Find the sum of 5 and 3.

5 3R 3 BT 47 I1d PIvEI

D What shall be_ added to 5 to get 8?
8 UM & R 5 & T et wg?

Correct Ans : A

Subject : Mathematics

Q.No: 91  Which is most harmful for life on globe?
2470061

S Tdg W S & U 9ad geRS S eRS gl 82

A Deforestation
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Tl P Perg

Soil erosion

B
gt &1 we@
Global warming
C
3 qHe
Nuclear fallout
D

TRHT] EGIE|
Correct Ans : D

Subject : Environmental Study

Q.No: 92 Teaching aids reinforce the teaching of EVS by

2470290
TRreqor wgre ArEh Sdiey & Riev HI geg AT
Replacing the materials of the textbook
A
UISIY S A I TG
Making home assignment easy
B
T8 P B HF T
Supplementing the spoken words
C
Sl T SRl F [T
Reducing teachers activity
D

gt Y fafaly & &9 BT

Correct Ans : C

Subject : Environmental Study

Q.No: 93 Which is not the criterion of an ideal evaluation?

2470329
TP TS Fedid P AMES Tol 87
Validity
A
Qe
Reliability
B
faeitaan
Comprehensiveness
C
Agehdl
Only testing of knowledge and skill of subject matter
D

fawa a¥g & Faa I SR S F w e

Correct Ans : D

Subject : Environmental Study
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Q.No: 94 Comparison ability in environmental education is related to the following purpose

2470394
ez Rigqr # o FR IHH F1 Gy Fm S AR
cognitive
A
JHATHD
Understanding
B
SLE]
Application
C
ST
Skill
D
GaNG]

Correct Ans : C

Subject : Environmental Study

Q.No: 95 In the region of hot climate the houses are painted with light colour why?

2470575
T Siiarg e & A BRI Y g T 9 T o 82
Because light colour absorb less sunlight
A
Fif 5T 1 G & T Y B AT P &
Because light colour reflect less sunlight
B
Fifes gepT 1 G & DI P HH Wrafdd Bl &
Because light colour absorb more sunlight
c
it gowb! 1 Y & DI B 3l SaNfT HYar §
Because light colour looks great on the wall.
D

i <R R Geebl T agd 3T Ol §
Correct Ans : A

Subject : Environmental Study

Q.No: 96 Which among the following is the earliest form of shelter?

2470579
frafifEa & § S5 a1 s o1 9ed URMANE w9 T2
Kutcha house
A
HE W
Caves
B
TTalt
Pucca house
C
Tghl U
D Boat
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EICc)
Correct Ans : B

Subject : Environmental Study

Q.No: 97 Sand Martins excavate tunnels to make their nests. They nest in and make tunnels on exposed faces of riverbanks, quarries
2470694 znq cliffs.

s Tey SO e o F g gETEea €1 9 H Ore S § SR TE & bR, Fart IR ggl & g §U 969 TR 9 & o
isolated area
A
qUS &5
colonies
B
HIf
In fields
Cc
gen kel
limestone area
D

T URR &85
Correct Ans : B

Subject : Environmental Study

Q.No: 98 Oxygen required in oxidizing the organic compounds present in water by means of chemical reactions involving oxidizing substances is known
2472117 3
as;

Tt & Hieg SRS DS B SRR $A aid uardl @ gad Iae yiafdarst & arem § sifefiewer w9 & e siaxgsd sifeiiem & S § ST 95 §;

Biochemical oxygen demand

A
T IR SRS Bt AT
Chemical oxygen demand
B
T Sifeier # A
Dissolved oxygen
c
i fieite
Eutrophication
D

TRIBHRA

Correct Ans : B

Subject : Environmental Study

Q.No: 99 Water conserving system in India are used from ancient times, Khadins method is used in which state
2472260

R B et TR&T TRl BT WERT Ui i 9 S Siran B, @ife usfa o1 van o Isa § far orar 8

Tamil nadu

GIEGEI

B
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Assam

S
Punjab
C
LEEiCt
Rajasthan
D
RO

Correct Ans : D

Subject : Environmental Study

Q.No: 100 Which of the following constitute a food-chain?

2472414

i & 9 $F T Tr-gaan 1 fafor s 82

Grass, wheat and mango
A

9, g 3R 3

Grass, goat and human
B

U, 63 3R A

Goat, cow and elephant
Cc

THY, M IR TRi

Grass, fish and goat
D

U, TSe 3R T

Correct Ans : B

Subject : Environmental Study

Q.No: 101 Fat contribute about calories per gram
2472706
Crl SO ufawrd BT ANTEH B &
9
A
8
B
8
C
7
10
D
10

Correct Ans : A

Subject : Environmental Study

Q.No: 102 ISRO Outstanding Achievement Award for Distinguished service in ISRO, 2018 was awarded to:
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2473981
2018 TR ¥ ARy Ja1 & U WY F IHT Ui RHR J H8 g faan mre

Ritu Bhardwaj

A
g HRg™
Ritu karidhal
B
fog il
P. Kunhikrishnan
C
0. RO
C.V. Ramana
D

. ot or

Correct Ans : C

Subject : Environmental Study

Q.No: 103 GEMINI stands for:

2474024

GEMINI &1 313 §:

Gagan Enabled Mariner's Instrument for Navigation and Information
A

T HeH ARR SUHR AR 3R gE & g

Gas Enabled Mariner’'s Instrument for Navigation and Information
B

g e ARFR SUHR AR iR gE & g

Graph Enabled Mariner’s Instrument for Navigation and Information
C

I e ARR SUHRT AR IR G & g

Given Enabled Mariner’'s Instrument for Navigation and Information
D

f2u T Tem AR IuPHRer ARARE R gEAT F

Correct Ans : A

Subject : Environmental Study

Q.No: 104 DRDO doesn't collaborate with which of the following organisations?

2474038
DRDO Fafifad & & frw TTe & wry WgdnT el o 82
Department of space
A
feifRes farHmT
Department of Atomic Energy
B
TR Sl AU
Department of Corporate Affairs
C
HIURT BRI [T
D Council of Scientific and Industrial Research
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e IR e srgeer aRwe

Correct Ans : C

Subject : Environmental Study

Q.No: 105 The rocket Falcon 9 was designed and manufactured by -

2474078
3Mpe Wied 9 Bl fEeme iR Fmfur i grr far mar a2
NASA
A
NASA
ISRO
B
ISRO
SpaceX
C
SpaceX
DRDO
D
DRDO

Correct Ans : C

Subject : Environmental Study

Q.No: 106 From which of the following countries tomatoes, potatoes and green chillies came?

2475758
PofifEd ¥ 4w 2w @ e, 3 3R &8 i ard?
South America
A
aferor st
Europe
B
T
Africa
C
SBIPT
Australia
D
e

=

Correct Ans : A

Subject : Environmental Study

Q.No: 107 Which of the following festivals is associated with Harvest season?

2475866
Frafifed # A o O deR BHe $ JE 3 F91 82
Rakhi

A
Ryl
Christmas

B
forama
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Bihu

C

Mahaveer jayanti
D

TEIER St

Correct Ans : C

Subject : Environmental Study

Q.No: 108 Which among the following is the appropriate definition of work?
2476597

frofifea 3 9 o-0 1 31 Iugad uRkumT 32

Any thing that is done to earn praise is called work.

A
Fig ft 1 S wiE FAM & o v S 3 99 S F1 9w 31
Physical activity done with no aim of completion is called work.
B
o ot wgm & e TIw Wi Wil 1 o1l Fg1 oIt ©1
Activity involving mental or physical effort done in order to achieve a purpose or result is called work.
C
Tt Se=a 1 URIH I U ¥ F 1T 5T T AR a1 ARG T S id SR el ety S SRS Hel o gl
Mental activity done to complete a task is called work.
D

50t il 3 of B F R Bt S areht aFRE 5 31 w1 Fea B

Correct Ans : C

Subject : Environmental Study

Q.No: 109 What is the aim of the National Beekeeping & Honey Mission (NBHM)?

2476623
I AYHE ge SR e IR (NBHM) T 3839 1 87
Achieve the goal of sweet revolution
A
Hidt wif & weT B T B
Achieve the goal of blue revolution
B
el il P e B I HY
Achieve the goal of pink revolution
C
T[Tt Hifd & T B U B
Achieve the goal of yellow revolution
D

dicht wifd & &g B U Y

Correct Ans : A

Subject : Environmental Study

Q.No: 110 Kabaddi is the national game of which country?
2476649

Fag! {5y 3 F1 TP 99 §?
A Nepal
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B

Pakistan

i

Kazakhstan

PRI

Bangladesh

i

Correct Ans : D

Subject : Environmental Study

Q.No: 111 Teachers turn trips into mobile classrooms, instructing students to collect data, then assigning a project based on what they learned during

2477156 outing. This feature of educational trip is called

R Ym0 Bl Hiarsd et § 950 3d €, B 3 3¢ Uhd &1 &1 Fa ¥ 3 §, TR om3fe & SRA 3817 Sl Tl 39 SR R TS Uoiae 38 o3 &

=Y UPR 31 AP TE 7 FEAn! 82

Reinforcement

eIl

Engagement

i BT

Captivated

g g

Retention

S{AYRUT

Correct Ans : B

Subject : Environmental Study

Q.No: 112 Group discussions help in developing:

2477300
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i. Divergent thinking
ii. Irrelevant thinking

iii. Listening abilities

ol ey foem & meg #xdt 32
i. 3ferT 9"

ii. s I

iii. g B &

Only ii and iii

Fad ii 3R iii
Only iii

Fad iii

[ LY (VN
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iy

Had i

Both i and iii
D

i 3R iii G

Correct Ans : D

Subject : Environmental Study

Q.No: 113 A student is struggling with a problem. After the teacher helped him through a learning method, he arrived at a solution. Identify the method.
2477343

TP O T § S 38T 3| e gr1 i Y % Aremm | I Aeg IR F 918, I8 TS Gy IR ugn| fAfy 1 gead

Demonstration method

A
e fafy
Project method
B
aferT fafy
Problem Solving method
C
TR S o
Role play method
D

Ja w Ry

Correct Ans : C

Subject : Environmental Study

Q.No: 114 Which of the following are endemic flora of the Pachmarhi Biosphere Reserve?
2477807

1. Sal

2. Wild mango

Choose the correct code -

frufafaa & @ o uoEd Sarved sRfda &3 & O &t arufa 82
1. 9@
2. SR S

el e g -
Only 1

Fad 1
Only 2

Had 2

Both 1 and 2

Ff 1 @R 2

Neither 1 nor 2

qarL SRAE 2

Correct Ans : C
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Subject : Environmental Study

(22;1,\[707:9181 75 The viscous black/brown substance obtained as residue while refining petroleumis called what?

erTor % ITsauT 3 ERIE 3 (TS F T H e R R FTem/ s Terey
FETIT &7

Petroleum spirit

A
eferas HeER
Petroleum tar
B
Yt RS
Petroleum Naptha
C
Yo e
Diesel
D
S

Correct Ans : B

Subject : Environmental Study

Q.No: 116 Consider the following statements about an air-pollutant -

2478051
1. It is produced by the incomplete combustion of fuels like petrol, natural gas, coal or wood.
2. It is colourless and odourless gas.
Which of the following gases is being talked about?
T IG-UgT® $ IR # FHfied $YUF W =R X -
1. T8 UCId, WPl 79, HIIa 91 adbal ol 3eF & SqUf Gg- 9 S gl 5
2. 75 W6 SR e T 8
frofafea & @ f5u 9 & IR & 919 3 51 3§ 32
co
A
co
COo,
B
CO;
50;
Cc
S0z
NG,
D
NC;

Correct Ans : A

Subject : Environmental Study
Q.No: 117 Which of the following is the first stage in the ICT development stage in classrooms?
2478528
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i § ¥ oF-u1 Far # oS, 0.3, Qe @R I g R 872

emerging stage

A
AT R a1 /0
applying stage
B
QAT R 1 =R
infusing stage
C
TR W AT TR0
transforming stage
D

TR ® a1 =Ror
Correct Ans : A

Subject : Environmental Study

Q.No: 118 Which of the following is NOT a reason for teachers to use TLMs (Teaching Learning Materials)?

2478612
frafafed § & F-a1 Rieet & forg &.ua.d. (Rieor s wrwkh) &1 3udi $37 &1 SR A 82
To motivate learners.
A
et 3 I F & g
To facilitate holistic learning.
B
THY e o1 gy & g
To help in longer retention of information.
Cc
T & 9 TG 9% YR T Tee PR & R
To discourage the students from reading different books.
D

BEI &1 faft gxie] 31 Ug 9§ gdldied S F g

Correct Ans : D

Subject : Environmental Study

Q.No: 119 Teachers need to “Recognise children as constructors of knowledge.” What does this imply?

2478668
et 1 Sl B I F i1 F T F gear AeT ST ATy /I §?
Every child must be given the opportunity to make sense of new information based on her or his previous experiences.
A
TP T B! 59 [d-3FHal SR SHRFTH FIMUR W TdF THOR UG H PI 3(GR g1 9 =iee|
The teacher should have a hands-on approach for teaching the children in the classroom.
B
e & 5 @1 UM ¥ g e U 1o e @t g Al
The teacher should teach everyone with a uniform and same approach.
C
e & Wt H1 tH TUH DIV F 1Y UG AgEl
D The teacher should not explain a concept and let only the students understand it by reading a book.
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Rierer B TP GURUN P RS T B! ALY AR Hae BHT B U fPale TeR 39 T &1 =gyl
Correct Ans : A

Subject : Environmental Study

Q.No: 120 Which of the following is the most personalized medium of broadcast?

2478696
Frofifad & 3§ S 91 TR BT Yol AfRTd A1 82
Radio
A
&
Television
B
efifas
Podcast
C
HisHRE
Films
D
et

Correct Ans : C

Subject : Environmental Study

Q.No: 121 Which of the following is not an appropriate tool for formative assessment?

2474284
o & ¥ SF-91 TS SHTHa B JUH0l T8 82
assignment
A
ERIEELT
oral questions
B
T vy
term test
(o}
e
quiz and game
D

e iR T

Correct Ans : C

Subject : Child Developement

Q.No: 122 Computer is helpful in researches in all of the following ways except:

2474359
e fufifed & 9 59 1@ @) Sises 9 We & SrRiyFT 7 weeTR o 82
it can store large amount of data and analyse them
A
T 63 HET & ST BT HSRU IR DT RALAYU TR Feoell &
it helps to derive correct conclusions
B
75 ! Frsp P & wag aRar §
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it can convert quantitative values of attributes into graphs, charts etc.

T Ui & WS W B W, F1E 3N H ulafia B Febdr 8

it can explain the results with accuracy

g YelBdT F T URUITH B SIRS BT §
Correct Ans : B

Subject : Child Developement

Q.No: 123 Units and sub units are integrated in the form of a whole at the stage of:
2474525

39 TR W 3BT 3R IU-gh1Eal [ RE § 3bg! Bl Sl 8

presentation

A
EiSEicaul
assimilation
B
oftre
recitation
C
ST
None of the given options
D

few T e 7 @ P T

Correct Ans : B

Subject : Child Developement

Q.No: 124 Child centered pedagogy means.

2474560

I i eI §

plans for the psychological development of children
A

ol & AT e 9t g

makes children answer a teacher’s questions
B

=il 31 e & et 31 IR 3 F g aem FRar §

gives no scope for a child’s experiences
C

T P U BT RIF T a1

makes children reproduce textual knowledge
D

TGS I &I G: IO B $ Y 7= &1 WRa BRar g
Correct Ans : A

Subject : Child Developement

Q.No: 125 cChildren from lower income families do not tend to score, as well as children from middle income families on standard measures of linguistic

2475464 apility on which of the following abilities do children tend to differ?

P 3 A URART F F= IS T & F RS 14 o R HEH 319 T & gl $ -1 AT 0 T &5 aei] 8§ R H Bl &l Tal 364 3
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A Vocabulary, Sentence structures and Articulations

TIAa, I YA 3R SERY

Social characteristics

B

TR it

Emotional characteristics
Cc

WIgP RRwar

Cognitive characteristics
D

pivfed faRiwang
Correct Ans : A

Subject : Child Developement

Q.No: 126 Consider the following statements

2475408 1. Failure to deal adequately with the developmental problems at a particular stage many interferes with development at the next stage.
2. There are critical periods during, which both favorable and unfavorable circumstances have lasting and perhaps irreversible consequences.
3. A child must groom a satisfactory emotional attachment to and adult during the first 3 years of life in order to be capable of normal
affection relationship in later life.
4. Environmental conditions to which the infant is exposed have no another major influence on development.
Which of the statements given above is/are correct?
Froafarad faavo W fRER S
L. T fadw Ry § fasraree Trwel § wia w0 § s § fAvad s ar sere =R § faera # a1 s
2. 59 RM Aeayyl st St ¥, M srpa SR ufdea <t uikfRufadl & wirdt oiR wme smfad=ta ufoms g1
3. Sie & Ugd 3 af & IRM U@ 92 B TP YalSoHd HIGHIES TG f[IHRId ST 91feT i 98 §1% & Siad & W & e § 9am 81 99|
4. Tom yfavoit oRfRufadt § RIg) B sfava SR oIl 8, 5T e IR P 3= 981 YHIG 761 UsdT g1
1and 2
A
13k 2
1and 4
B
13R 4
All of the given options
C
e T Wi fmed
1,2and 3
D
1,23R3

Correct Ans : D

Subject : Child Developement

Q.No: 127 Diya is a 10 year old student who struggles with getting good grades. Everytime her grades get low, her mother gets very angry and punishes
2476936 pgr, So, Diya decided to work even harder and get good grades in a recent exam, in order to avoid the consequences of her mother's anger.

Which of the following is true in this scenario?

a7 10 T F ST R S 3y IS U & g Jad et ¥1 TR IR S IUH IS FA B ¢, o SUST W 9ga HIAa g I ¥ 3R I &3 et R
gafere, A 3 oo+t A1 & R & aRom S99 F e $iR o sifie Bga R SR BT o U adlen W oY US U e Bl haa o
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39 uRewg ¥ Fafifed § 9 o9 @1 99 82

Diya is intrinsically motivated

A
& il &9 9 Ma §
Diya is superiorly intelligent.
B
& sifa glem §
Diya is extrinsically motivated.
C
&1 918 = A IRa §
Diya doesn't care about her mother's opinions
D

S B e 7 P I B WaE TR

Correct Ans : C

Subject : Child Developement

Q.No: 128 Which stage of Piaget intellectual stages is also known as preconceptual stage?

2477538
oS 3t S sraen 1 59 sraw HF o Thederd saet & A & off S e §2
Sensory motor period
A
Had} SR oAty
Pre operational period
B
g ufkEred sm@fdy
Formal operation
C
el dareH
Concrete operation
D

B Gara
Correct Ans : B

Subject : Child Developement

Q.No: 129 On the basis of popularity which of the following types of adolescents are liked by some and disliked by others?
2477689

Wb igar & SMUR W AufifEa § 3 feg yeR & HRIR $o dril & TE oIk $9 3 A0NE 81 82

Popular adolescents

A
Top RN (NYeR Teradiey)
Neglected adolescents

B
IR PR (TS geIaed)
Rejected adolescents

C
Srfiepd Rk (Rewes Teiaiew)
Controversial adolescents

D
faaTerere eIk (Seiarisn Teiates)
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Correct Ans : D
Subject : Child Developement

Q.No: 130 Inclusive education helps the children in schools to develop for people with diversities in general and for those who are
2478095 disadvantaged.

TTRT e Igel 7 S 1w Y 9 e 9w a $iR dfa an % i faeRd o3 # Hag i 8
Higher levels of tolerance
A
TR BT 3= ®R
Lower level of tolerance
B
wfRwg &1 e wR
Absolutely no tolerance
C
g e e
Indifference
D

Ierdiar

Correct Ans : A

Subject : Child Developement

Q.No: 131 ‘There are significant difficulties in the path of implementing inclusive education system in a school.” The statement is
2478112

gl Riem ot = B g FA & e I § 5 axnft ot 87| 98 U

False, because the school need not be changed for this programme.

A
3, Fifes 59 BRIHH P 1Y [T P Sea- S AT=IH el g/
True, because the school has to address the need of the diversities of the children
B
T4 &, Wieo a o o=t ot RS $1 raxasar $f I 0 §
False, because the school does not have to address the need of the diversities of the children
Cc
3, Fife wpa ! gt ot A 3 srazawar B g TE e §
True, because all the children do not want to read in a school
D

9 7, T T 7= T @ & UgN T a6 ¢
Correct Ans : B

Subject : Child Developement

Q.No: 132 Who out of the following has quoted ““Alone we do so little, together we do so much”?

2478119
fraffed & I e a1 “aipd T 980 B X4 §, 3P 980 TS PRI 872
Albert Einstein

A
TEE A
Helen Keller

B
T HR
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C Rabindranath Tagore

RIEESIVRIETY

Mahatma Gandhi
wETer it

Correct Ans : B

Subject : Child Developement

Q.No: 133 Which of the following is NOT a unit of Macro-Level Socialisation?

2479038
iR ¥ 3 $F gea TRa TR B IPE T 82
Global Community
A
3y wgam
Mass Media
B
1w Hifsar
Religion
C
o
Social Network
D

N Yead

Correct Ans : C

Subject : Child Developement

Q.No: 134 Which of the following is NOT a secondary reinforcer for humans?

2479240
Frafafad & 3 oF w3l & o fidae oo 71 82
Food
A
&l
Money
B
Luil
Praise
C
=T
Grade
D
Ao

Correct Ans : A

Subject : Child Developement

Q.No: 135 Learning is the result of associations forming between stimuli and

2479344
e JEUT SR % o9 ¥ 9ral Wl &1 uiom 71
A Behaviour
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IR

Response
B
gfafssar
Control
C
ferizor
Intelligence
D

=

Correct Ans : B

Subject : Child Developement

Q.No: 136 Which of the following best suited the definition of Society centered education?

2479520

Frofifad & 3 o au Hia Rier $ uRumw ¥ R 9ed Iugw 22

It lays importance to the subject content of the curriculum to be delivered by the teacher.
A

a5 R R fRT oM 91 wiewsH @t fava el 1 W@ AT 3

It refers to the active involvement of the teacher while the learners passively listen to the teacher.
B

a5 Riere 3t Ay urfierd #1 Heffa wwar 8 wiefe Remdf Fiftra wu 3 Rige 31 g1 8

It refers to making the child familiar with societal concerns, problems, and issues.
C

ST A T Bl IS BRI, TARNeN 3R gET ¥ uRie S 81

It refers to a child’s emotional connection with himself and his problems.
D

U8 0P 23 & A0 3R IS GHEIEH & Y HIGTTHS oY ) axiier el

Correct Ans : C

Subject : Child Developement

Q.No: 137 Which of the following is not one of the outcomes of nursery school?
2479585

frofifea & ¥ o R Tga F uikom § 9w T8 8

The students can understand Size and Measurement by the use of shapes, objects and printed materials.

A
B PR AR AT B AP, TGN IR e Il S STdn § AL Iobal &1
The students can understand tens and units.
B
faemf aers oIk SRyl 31 wHy wEd 7
The students can use the abstract idea to form a conclusion.
C
e frpTem & T B S IR &1 SuanT &% 9&d §1
The students can understand, name and identify all primary colours.
D

B T U i ) T TP §, T S gd § Sk UgEH I 8

Correct Ans : C

Subject : Child Developement
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Q.No: 138 According to the multi-factor theory, the Content based on only sound or voice such as tape-recorded material represents?
2479743

Tg-HRS NiGid $ 38R, Haa @i a7 3G R el Jugaw] (dec) oF u-Reid s aml Fufafad # 9 e ufaffia s 82

Visual ability
A

= el

Semantic ability
B

ey A

Symbolic ability
C

Tl TeTe AR

Auditory ability
D

yau-iset dvgar
Correct Ans : D

Subject : Child Developement

Q.No: 139 Rajesh is a very gifted child, who can solve complex mathematical problems since very young age. However, he never plays with the other
2479846 hildren as he cannot adjust with them. This can be explained with which of the following theories?

IS TP g &) ufaurieh s 8, S 9gd S1¢ 99 A & wfew oy Iuwansii &1 5 IR Aadl g1 g, a8 waft ot 3R sl & A TeT Yo § Fife 98
I iy e faeT e uien g1 39 ufafaa  $ few frgia & ausmen S e g2

Theory of Multiple Intelligence

A
Tg-g& ¥ R
Single-factor theory
B
TP BRS Nsid
Group Factor theory
C
TR BRP g
Two-factor theory
D

% ore Risia

Correct Ans : A

Subject : Child Developement

Q.No: 140 Objective of education is self-control; which psychologist believe that?

2479893
1 1 I M- TG0 §; P A1 FIGIS T AT 32
Plato
A
@R
John Locke
B
S Tl
Cc Erik Erikson
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e o

Fedrick fernson

By wried

Correct Ans : B

Subject : Child Developement

Q.No: 141 Which of the following is a representative of the traditional values and ideals prevalent in the society and which a person learns from his
2480149 arents?

fufefea § 9 a5 1 8, S Ju & e uRuie gedl 9iR el o uiaff § oiR S safd, s ardr-far 9 diaar 32

Super-ego
A
-1
Id
B
ES)
Ego
C
o
Super-id
D
WH-FE

Correct Ans : A

Subject : Child Developement

Q.No: 142 Which of the following cannot be used to accommodate individual differences or diversity in a classroom?

2480343
frafaraa & ¥ feumT ST Hem | e SR a1 fafaedr S TaEie o3 & [ 761 e < Iar g2
Integration of content
A
AR BT TP PR
Egalitarian pedagogy
B
FHaTErd) Riamra
Prejudices held by the teacher
C
e o1 (Aiga wivg
Strong cultural structure at school
D

ey & Aoy Wiepia® ST
Correct Ans : C

Subject : Child Developement

Q.No: 143 The Wilson System is a specially designed Individualized Educational Program to address students with
2480371

o Riew, oE! &1 WEIRG B3 & fw ue ARy Tu 3 {39 fear man aafdara Jeifde sried §
A Dysgraphia
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AG dBed

Dyspraxia

B
TR A%
Dyscalculia

C
e agpferr
Dyslexia

D
& 3%

Correct Ans : D

Subject : Child Developement

Q.No: 144 During which of the following age, a child is considered to be in Jargon period of language development?

2480428

Fofifad & 4 5 39 & 95 & U (s & g s@fdy (Jargon period) ® HFT IIT 872

6 months
A

6 HEH

9 months
B

9 WEH

10 months
c

10 HgH

12 months
D

12 7@

Correct Ans : B

Subject : Child Developement

Q.No: 145 Which of the following is the other name of formative assessment?

2480429
froffed 3 @ S1F-91 TS Teaie 3T GO A 82
Educative assessment
A
TRigimre Hedieo
Assessment of learning
B
g & fibaT
Assessment for speaking
C
| & g swe
Diagnostic assessment
D

e gt
Correct Ans : C

Subject : Child Developement
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Q.No: 146 Which of the following statements is not true about teaching?

2480653
0 7 A B a1 P Raw & IR F ¥4 T 82
Teaching is modifiable
A
fRieor % QYR far o7 b B1
Teaching is formal and informal
B
Rreror o Td sFTERS §
Teaching is a science as well as art
C
fRreror fo & -y e ot §
Teaching is instruction
D

TR SgazH 81
Correct Ans : D
Subject : Child Developement

Q.No: 147 According to NCF 2005 which one of the following is not a major shift?

2480706
It Ut @ FIET 2005 F AR Fyifd # § S5 @ T Jed 71 82
Teacher centric to Learner centric
A
LD Bisd U T Disd B 3R
Learner autonomy to Teacher direction
B
el Wl ¥ SIS AR Bl 3R
Passive to active reception in learning
Cc
ffsra & aftsa s st 9 eik
Learning within four walls of the classroom to learning in the wider social context
D

F& Bt ARG & A F fovga arfore uRviea o ok

Correct Ans : D

Subject : Child Developement

Q.No: 148 A teacher’s most important challenge is

2480784
©F e & 9 Agw@yyl g §
to make students to their homework
A
foRnRiat & 871 B HeaE
to make teaching-learning process enjoyable
B
Rregor et & ufsear o @ ST
C to maintain discipline in the classroom
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BT H ST Y TG

to prepare the question paper

UY-UH SR Sl
Correct Ans : B

Subject : Child Developement

Q.No: 149 Which of the following are the developmental signs of learning in the age group of 0-2 years?
2480806

& 3 oH & 0-2 9 F oy wgg A Hiew & fopm &1 I&d 82

Exploring environment and object permanence

A
TafaR0T 3R TR RIRE BT T
Feeling of fear and anxiety
B
17 3R i BT e
Feeling of satisfaction about oneself
C
3O gR H YA Togd FAT
Feeling of self-realisation
D

W-TEHN I HIGT
Correct Ans : A

Subject : Child Developement

Q.No: 150 h, e, n are the sounds in language development.

2480838
T & fa@rg 7 @fef h, e, n B
Morpheme
A
wfm
Wordim
B
RIS
phoneme
C
e
None of the given options
D

faw g faepedl # & #E T

Correct Ans : C

Subject : Child Developement
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